Choose the correct answer.

Nick has 48 DVDs in his
collection. He keeps 6 DVDs
on each shelf in a cabinet. How
many shelves does Nick use for

his DVDs?

O A. 42
O B. 8
DG T
OD. 6

Three friends share 30 marbles.
Each friend gets the same number
of marbles. How many marbles
does each friend get?

O D
OB. 4
O C. 10
O 'D. 27

Mrs. Martinez gave her 5 children
$25 to share equally. How much
money did each child receive?

O A $4
O B. $5
O C. $6
O D. $20

Emma had 18 extra comic bookg
to share. She divided them equally
among 3 friends. How many
comic books did each friend ger

OA 13
OB. 6
OaC# 9
e D5

Brenna has 16 flowers. She puts
the same number of flowers into
4 bouquets. How many flowers are
in each bouquet?

OA 4

OB 12

@& E: 92

O D. 64

A bag of apples costs $6 and that
is 3 times as much as a box of
blueberries. How much does a box
of blueberries cost?

O A. $18
O B. $12
0.6 %3
0. D82
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; re are 32 students who si
17 Thefor a clean-up Project.o'lflllined 8. -Will's:toy wain is 3 Inc hes loo
s med teams of 8 students yh Lane’s toy train is 36 inches ong
fOrw many teams did the feac ) How many times longer is laner
Ho VT train than Will’s train?
4
e oA ; O A. 27
. B. O B. 18
o C. 24 o€ 9
o D. 40 OD. 4

Lilly baked 40 cookies. She shared her cookies equally among 4 friends.

How many cookies did each friend receive?

A. Draw a model of the problem.

B. Write a division sentence for the problem. Use [] for the quotient.

= =[]

C. How many cookies did each friend receive?

g
:
ES
=3
§.‘
i
3
2
3
g.
2
£
§
:
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Gh oSe the correct answer.

\X/hat fraction of the figure
is shaded?

]

1 4
OA'E 31
oB.% %

3. Which fraction has 5 for

1 numerator?

3 4
OA4 . 5
3 5
OB.5 O D. 3

3. Where is point B located on the

number line?

B
Gttt
0 1

1 4
OA‘E - Z
2 >
OB.'G‘ O 06

Which figure shows % shaded?

Y B
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What fraction of the rectange
s shaded?

5. What fraction of the circle
is shaded?

OA % 0 €. 0B § O D. g
SN .-
8 07 D5 8. Where is point /7 located on the

number line?
6. Where is point Y located on the
number line? 5

y 0
< é g S
1 1 2
O A 7 o C 3
1 I '
1 : 2 :
OB. 3 O D. 3 \
9. Lenny wants to show—g- in two ways.
A. Shade the rectangle below to show %
B. Draw point R at % on the number line below.
S G R P 3 S ) Y
0
‘/
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Choose the correct answer.

1. Which is th 3>
ot picture below?
OA 3
OB 2
® i
1
Gl O.B. "%
2.  Which is another way to show the S e 42
>
number 8? 56 %
8
4
O B. -
ocC & Which fraction is not equal to I?
- 8
1 OA 2
O D. '§ 3
_ O B. %
3. Which fraction is equal to 1? 7
: @4 68 5
o, e 5
1 oD. 2
2
O B. 5
e % Which is another way to write the
fraction 2?
o D. % 2
OA 3 0C. 2
G B D %

What fraction is shown by the
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\x/hlch whole number is 104
eql.lﬂ.lto_ :
O A. 10
oA 1
OB. 9
oB. 5
@65
o C b
O D. 55
o D. 10
» ik e i

g, Mr. Torres asked his students to show

A. Shade the rectangle to show %

8 with a rectangle and on a number line.

B. Label the number line. Draw point 4 at g
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How can a thombus be a

" rectangle? 4. ZVhich quadrilateral can not have
: equal sides?
o0 A. if all the angles for
GOTEES o SLATe O A. rectangle
O B. if none of the angles form O B. rhombus
square corners O C. square
0 C. if some but not all of the O D. trapezoid
angles form square corners
O D. A rhombus cannot be a 5. How can a rectangle be a square?
rectangle. O A. if none of the sides are
equal
Which is not a parallelogram? O B. if exactly two of the sides
O A. rectangle ::ue equal
BB, ilGmbis O C. if all of the sides are equal
O D. A rectangle cannot be a
O C. square
square.
O D. trapezoid
| 6. Which names this quadrilateral? |
How many pairs of opposite sides .
are parallel?
/— / O A. rectangle
A A (C)) ](3: rhombus
: e
O B. 2 ODsquar d
. trapezoi
0C, 3 ;
O D. 4
AR S s



: allelogram does not haye
7. Belowisa hexagon. i ;E::e corners or all sides
equal. Which best describes the
<:> parallelogram?
O A. parallelogram
Which two quadrilaterals make the o B. rectangle
hexagon? :
O C. rhombus
O A. rectangles D v
. squ
O B. rhombi & -
O C. squares
O D. trapezoids
9. Katie drew these two quadrilaterals.
A B

A. Besides polygon and quadrilateral, name quadrilateral A in as many ways as

you can.

B. Besides polygon and quadrilateral, name quadrilateral B in as many ways as
you can.

C. How are the quadrilaterals alike and different?

306 ¢ Domain 5: Geometry
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ﬂessonpractucepartz

""’”’oos e the correct answer.
ch

Which square is partitioned into
>

0 A

o0 B.

612G

o D.

What fraction describes the area of
each part of the rectangle?

O A
O B.

A= D=

O C.
O D.

ool— =

Which circle is partitioned into
equal areas?

O A.

O B.

& &)

O D.

SPPLVIANS

What fraction describes the area of
each part of the rectangle?

QAL 0O C.

O B. O D.

= W~
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6. What fraction describes the area of

of the area. Which describes a each part of the circle?
rectangle that could be this shape?

5. Each part of a shape makes up %

O A. 2 rows of 4 squares each
that are all equal in size

O B. 2 rows of 4 squares each
that are all different sizes

O C. 3 rows of 3 squares each O A. % O-C. %
that are all equal in size ol oD 1L
O D. 3 rows of 3 squares each 4 o

that are all different sizes

7. Use a centimeter ruler.

A. Partition the rectangle into 3 equal parts.

B. What fraction of the area is each part?

C. If the area of the entire rectangle is 24 square inches, what is the area, in
square inches, of each part? Show your work.

314 ¢ Domain 5: Geometry
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Choose the correct answer.

1. Kelly baked 5 trays of muffins.
Each tray holds 6 muffins.

How many muffins did Kelly
bake in all?

O+A. 11
08, .25
O s 30
O D. 50

2. M. Field’s garden has 8 rows of
plants. Each row has 10 plants.

How many plants does Mr. Field’s

garden have in all?

O¥A. 18
O B. 40
O C. 70
O D. 80

3. Steven bought 3 bags of potatoes.

Each bag has 7 potatoes. How
many potatoes did Steven buy

in all?

O A. 10
O B. 21
O 2B
© D.-30

Ebony has 7 bookshelves. She
has 9 books on each shelf.
Whitney has 12 more books
than Ebony. How many books
does Whitney have?

O A 75

O B. 63

0, G5

A toy car costs $5. A toy helicopter
costs 3 times as much. How much

does a toy helicopter cost?

O A. $10
O B. $15
O C. $20
O D. $30

Jesse’s flower is 7 inches tall. Ted’s

flower is 2 times as tall as Jesse’s.
How tall is Ted’s flower?

O A. 7 inches
O B. 9 inches

- O C. 10 inches

O D. 14 inches

102 « Domain 2: Operations and Algebraic Thinking




There are 5 parents driving the
scudents from Ms. Alvarez’s class
to a play. There are 4 students

in each car. How many students
from Ms. Alvarez’s class are going
to the play?

O A 20

OB. 24

o C. 25

0 D. 30

5

There are 10 players oD
each basketball court. How

many players are there on
6 basketball courts?

O A. 30

O B. 50

O C. 60

O D. 80

on each tree.

the product.
X

9. There are 4 lemon trees in Rasheed’s backyard. There are 12 lemons

A. Draw a model of the problem.

growing

B. Write a multiplication sentence for the problem. Use the symbol [] for

=[d

C. How many lemons in all are growing in Rasheed’s backyard?




2 ipi AERN Dk ol ~ Lesson 9: Understand Multiplication

choose the correct answer.

1.

Which multiplication sentence
does this array show?

SIS
S ICAGE IS
PEEAGNG
SEIEIT W

OA 3X4=12
O B..3 X515
OC. 4X4=16
O-D. 4X5=20

Which multiplication sentence
does this picture show?

""
@

-’ 27 ’ 27 -"/a
&<

T I o
<

P‘ )/4
PP

G-A. “F K3 =D
OB 3X4=

OC. 4X4=16
O D, 4X%X5=20

Which addition sentence is
represented by the array?

OA 4+4+4+4=16
OB. 4+6+4+6=20
OC 6+6+6+6=24

OD.6+6+6+6+6+
6 =36

Which multiplication sentence
does this area model show?

O A 5 X7 =35

B. 6X6=36
OC. 4X4=16
O D. 4X5=20




What does 3 X 9 mean?

5. \X/hichisequal to 8 X 3?
343 +3+3+3+3
OB. 8+3+8 OB,3+3+3+3+3+3
o D: 9. 97t9
6. An array is shown.
Q Which multiplication sentence
Q O O O Q O does this area model show?
OOOOCOOO AL
Which number represents the
product?
O A. 14
Sk Lk OA 3X8=24
e O B. 3X9=27
9 A2 O C. 4X8=32
O D. 4X9=236
9. Look at the equal groups.

78 o Domain 2: Ope

A. Write an addition sentence to show how many tennis balls in all.

B. Write two multiplication sentences to show how many tennis balls in all.

rations and Algebraic Thinking




e ansansassscasarasanesy,

n Practice  Part 1

ohOose the correct answer,

..........
g

Which fraction is equivalent to 1>
%’

B

LTI
OA 3
OB.%
0C 3
oD.$

Which fraction is equivalent to é’

O A.
O B.

O C

(S5 i A

Look at the circle below.

@

Which also shows % of the

circle shaded?

O A.

O B.

O G

PE D
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4.  Which fraction is equivalent to %? 5. Which two fractions are
equivalent?
¥ i >
3 5 ! 0 1
' f
| L et o
0 1 2 3 1 : 2
4 4 4 | ; |
<—|L I 1 ] 1 1 | 1 (i T—(I) 1 é_\g*
I | 1 1 | I I | 5 3 3 i
Q- 155" |20 ABH - A, el BRNYE: 7N g
8: 8% B g ts
O A. %and%
O A. %
O B. %m%
O B. -g-
‘ @% o —é—and%
o E. %
O —;—and%
O D. g

6. Look at the models below._

A. Write two equivalent fractions for the models.

and

B. Show the two equivalent fractions on the number lines below.

=
nE) !

|
R

\ 4
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esson Practice o Part 1

] choose the correct answer,

Look at the two fractions below.

——
__ I

Which sentence is true?

1.

W[

N|—

ont-3
O B. %>%
o C. %<%
OD.%>%

2. Which symbol belongs in the ()

to make the sentence true?

4 2
¢O%

\ 4

A
oo+ 0O
ol= -
»IN —-
olw 4
oIN -
ol -
oo+ —

O A.
O B.
O C.
O D.

G - N

+

Which is the least fraction?
O A
O B.
O C.

ool oty ool ool

O D.

Which is the greatest fraction?

181




5. The circle below is % shaded. 6. Which symbol belongs i the Q
to make the sentence trye>
i @)
103
? 1 1 | 1
Which circle has less than 0 1 2 2\1*
1 shaded? $ 3P L
O A. | SR
e 8 B, .B: 8 B 8318 48" i3
O A2
O B. O B. <
@ O C. 7
@D F
S %
O D. @
7. Brenda has read % of a book. Sylvia has read % of the same book.
A. Circle % and % on the number lines below.
0 1
T DS MM o S e g oo
O ol slvaetd TTATS SR ANE
B oS8 B B B BB
o 1 e ) O NI s e P
O L A2 8ol - B dbed 7018
Bt B VBB B B s B ke B R
B. Who has read more of the book? Explain your answer.
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ch0°5e the correct answer,

yse the bar graph for
ql,estlons 1-3.

Goals Scored

Number of Goals

Chelsea Maurice Sahdy Adérﬁ
Player

1. Who scored 4 goals?

O A. Chelsea O C. Sandy
O B. Maurice O D. Adam

2. Who scored more than 6 goals but
fewer than 10 goals?

O A. Chelsea O C. Sandy
O B. Maurice O D. Adam

3. How many goals did Maurice and

Adam score in all?

O A. 16 0 C: 10
OB 12 @#b, 5

Use the bar graph for
questions 4-6.

Raffle Tickets Sold

8 45— |

40—

| 11

|

bl

S
[T
\
B

=)
1

Number of Tickets
nN
o

-

owm
[

Mike Joel Lynn Rita
Student

4. Who sold exactly 35 tickets?

O A. Mike OHC, ~Lyan
O B. Joel O D. Rita

5. How many more tickets did Rita
sell than Mike?

O7A. 15 O C. 45
O B. 30 OFD. 75

6. How many tickets did Joel and
Lynn sell in all?

O 85
B. 75

O C. 40
O D. 35




Use the bar graph for questions 7 and 8.

. : ost like isi
Eric asked some students about which states they would m to visit,

The graph shows his data.
States to Visit

e

N WHEOONN®O
[eNeolololoNoNolNoNeNe]
| | ] |

Number of Votes

Florida Hawaii New York California
State

7. How many students voted for Florida?
O A. 30
O B. 50
O C. 60
O D. 80

8. How many fewer students voted for New York than Hawaii?
O A. 30
O B. 40
O G550
O D. 80

Learnir
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